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int kaijyo(int a){

if (a==0){
return 1;
Yelse{
return axkaijyo(a-1);
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F=F+F=0+1=1
Fs=F+F=1+1=2
Fi=F+FR=2+1=3
Fs=Fy+F;=3+2=5
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\vspace{20mm}
typedef struct _tag_tree_node
{
int value;
struct _tag_tree_node *left;
struct _tag_tree_node *right;
}tree_node;
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#include <stdio.h>

/
/x O0O0O0O0Oo0OOooooooo
/

void move(int n, char from, char work, char to){

if (n==1){
printf ("%c -> %c\n", from, to);

Yelse{
move (n-1, from, to, work);
printf("%c -> %c\n", from, to);
move(n-1,work, from, to);

}

¥

/

/* 00000
/

int main(void){
int n;

printf ("0 00000000000 0000000O0N\n");

scanf ("%d",&n) ;
move(n, ’A’, ’B’, ’C’);

return O;



